

1.4 Continuity

A curve is continuous If it has no "Holes", Preaks, OR Asymptotes

(on timous At A point "C" If Definition of Continuous

1. fcc) Is defined.

X-> (

3. $\lim_{x \to 0} f(x) = f(x)$ X ->C

Ex. Are these continuous At x=2?

fex) is not defined

7. lim fcx) Must Exist

 $f(x) = \frac{x^2 - 4}{x - 2}$; $g(x) = \begin{cases} \frac{x^2 - 4}{x - 2} , & x \neq 2 \\ 3 , & x = 2 \end{cases}$; $h(x) = \begin{cases} \frac{x^2 - 4}{\lambda - 2} , & x \neq 2 \\ 4 , & x = 2 \end{cases}$

Theorem: f continuous at $x_{_0}$ $\angle=>$. If $\alpha_{_n}\to x_{_0}=>f(\alpha_{_n})\to f(x_{_0})$

<=> fcx.) = lim fcx)

f continuos at χ c=> $\begin{cases} \forall & \exists \forall x \in \mathbb{N} \\ 0 & \forall x \in \mathbb{N} \end{cases}$

If f is continuous At every point between a & b, Then f is cont on (9,6)

Properties fand g are continuous at Point C.

1. f + y
2. f - 9
Ave cont. A + Point C.
3. f . 9

4. $\frac{f}{9}$ Is conf of "c" unless. 9 cC)=0

If 9(1)=0, There is

A Discontinuity At "(")

for d

Note f(x) = /x) cont everymmere If A Funct is conf At C; I'm PCX) = PCC) lim f(x) = fcc) $\lambda \rightarrow C$ y -> υ Compositions: If lim g(x) = L and f is $\lambda \rightarrow c$ Continuous A+ L Then $\lim F[g(x)] = f(L) = f \lim_{x \to c} (g(x))$ We can separate limit by composition $\underbrace{EX}_{\chi \to 4} \quad \lim_{\chi \to 4} |10 - 3\chi^2| \longrightarrow \lim_{\chi \to 4} |10 - 3\chi^2|$ 1-38/= 38 TVT

F is cont. On [a, b], say K is between from \neq from these exist $C \in (a_{16})$ where C is between a and b_1 and f(C) = K.

* use ful in woot problem.

Def of Limit Function

If I > (a, 00) for some a 6 IR, then we define.

$$|\lim_{x \to x_0} f(x)| = ||x - x_0|| \leq ||f(x)|| = ||f(x)|| \leq ||f(x)|| = ||f(x)|| \leq ||f(x)|| = ||f(x)|$$

7 = C-Ap2

2. Completing the square

2x2+3x-4

$$f(x) = 2Cx + \frac{1}{4}y^2 - \frac{41}{8}$$
 Will be minimal when the square term vunishes, when $x = -\frac{3}{4}$

Big O and Smad ! O

Definition 3 3 Y as X -> 0 c>0 a>0 X & I

as X>a=> |fcol < c|(ycx) <=> |X-X0| < 5

For Bigo = fcx is not significantly greater or equal to gcx) in a neiglor hood OF

For Small 0 = fcx) is always less than gcx) near a neighborhood of xa

Theorem

χu

Big O: for X_o ∈ ∞, R

Prove by
$$\left| \frac{f(x)}{y(x)} \right| < < x < \infty$$
, or for $x_0 \in \mathbb{R}$ $\left| \frac{f(x)}{y(x)} \right| = L$ and $L \ge 0$

Smallo: for X60, R

Prove by
$$\lim_{x \to \infty} \left| \frac{f(x)}{g(x)} \right| = 0$$

$$\rho(x) = x^2 + 7x + 12, \quad g(x) = x + 3$$

$$ex. \quad 6x^4 - 3$$

 $-5 \times 3 - 3 \times 2$

 $-5x^{3}-5x^{2}$

7 x 2 + 7. X

2 x 2 + 2 x

find for 2x5+ 3x4- 4x3- 3x2+ 2x

v4-443 x+ x3

Thus roof = (x+3)(x+4) Factorize ex. 2

ex. 6x4-30x2+24 -> set y = x2 $\frac{6y^2-30y+24}{c}=0$

y2-5yt4 =0 (y-4)(y-1) = 0factor = (x2-+)(x2-1)

try root (x-1) $2x^{3} + 3x^{2} - 2x$ $x - 1 \sqrt{2x^{4} + x^{3} - 5x^{2} + 2x}$ 2x+-2x3

3 × 3 - 5 × 2 3x3-3x2 $-2 \times ^{2} + 2 \times$

Thus Ans: x(x+1)cx-1)(2x-1)cx+2)

(2x-1)cx+2)

$$\frac{\text{Partial fraction}}{\text{Partial}} = \frac{N(x)}{(ax+6)(cx+4)} = \frac{A}{(ax+6)} + \frac{p}{(cx+4)}$$

$$\frac{N(x)}{(ax+6)^2} = \frac{A}{(ax+6)} + \frac{p}{(ax+6)^2}$$

$$\frac{N(x)}{(ax+6)(x^2+6)} = \frac{A}{(ax+6)} + \frac{px+6}{(x^2+6)^2}$$

$$\frac{N(x)}{(ax+6)(x^2+6)} = \frac{A}{(ax+6)} + \frac{px+6}{(ax+6)^2}$$

$$\frac{N(x)}{(ax+6)^2} = \frac{A}{(ax+6)} + \frac{px+6}{(ax+6)^2}$$

$$\frac{N(x)}{(ax+6)^2} = \frac{A}{(ax+6)} + \frac{px+6}{(ax+6)^2}$$

$$\frac{N(x)}{(ax+6)^2} = \frac{A}{(ax+6)} + \frac{px+6}{(ax+6)^2}$$

$$\frac{Px+6}{(x^2+6)^2} = \frac{A}{(ax+6)} + \frac{px+6}{(ax+6)^2}$$

$$\frac{Px+6}{(ax+6)^2} = \frac{A}{(ax+6)^2} + \frac{px+6}{(ax+6)^2}$$

$$\frac{Px+6}{(x^2+6)^2} = \frac{A}{(ax+6)^2} + \frac{px+6}{(ax+6)^2}$$

$$\frac{Px+6}{(ax+6)^2} = \frac{Px+6}{(ax+6)^2} + \frac{Px+6}{(ax+6)^2}$$

$$\frac{Px+6}{(ax+6)^2} = \frac{Px+6}{(ax+6)^2} + \frac{Px+6}{(ax+6)^2}$$

$$\frac{Px+6}{(ax+6)^2} = \frac{Px+6}{(ax+6)^2} + \frac{Px+6}{(ax+6)^2}$$

$$5X+7 = A(x^2-1) + (\beta X + C)(X+2)$$

 $5X+7 = (A+\beta)X^2 + (2\beta+C=5)$
 $A=-0$

Thus
$$-2(-20+0=5)$$

 $-A+20=7$
 $-40-26=-10$
 $-420=7$
 $-30=-3$

$$-0.12c = 7$$
 $-30 = -3$

$$= 3\alpha = -3$$

$$200 = -3$$
 $4 = -1$
 $9 = 1$
 $0 = 3$

Answers =
$$\frac{-1}{(x+2)} + \frac{x+3}{(x^2-1)}$$

$$\frac{X^{2}+1}{x(X-1)^{3}} = \frac{A}{(X-1)} + \frac{B}{(X-1)^{2}}$$

$$\frac{x^{2}+1}{x(x-1)^{3}} = \frac{A}{(x-1)} + \frac{B}{(x-1)^{2}} + \frac{D}{(x-1)^{3}}$$

$$\frac{x-3}{x(x+3)^2} = \frac{A}{x} + \frac{\beta x+C}{(x+3)^2}$$

Ext.

 $\frac{x^{\frac{1}{4}} + x^{\frac{3}{4}} + x^{\frac{2}{4}} - x + 1}{x(x^{2} + 1)^{2}} = \frac{A}{x} + \frac{\beta x + \zeta}{(x^{2} + 1)} + \frac{\beta x + \xi}{(x^{2} + 1)^{2}}$

Mor Low

And solve

for even
$$f(-x) = f(x)$$

$$f(x) = \sqrt{x}$$

$$f'(x) = \frac{1}{2\sqrt{x}} - \frac{3}{2}x^{\frac{1}{2}}$$

$$\frac{1}{2\sqrt{x}} - \left(\frac{3\sqrt{x}}{2}\right)\sqrt{x}$$

$$= \sqrt{\chi} - \chi^{\frac{3}{2}}$$

1.
$$f(x) = \int_X (4 - x)$$
2. $\frac{x^2 - 2\int_X x}{x}$

$$= (\times)(2\times - \times^{-\frac{1}{2}}) - (\times^2 - 2\sqrt{x})$$

$$\times^2$$

 $= \frac{1}{2\sqrt{x}} - \frac{3x}{2\sqrt{x}} = \frac{1-3x}{2\sqrt{x}}$

 $= \times (2x - \frac{1}{\sqrt{x}}) - (x^2 - 2\sqrt{x})$

 $\frac{\chi^2 - \sqrt{\chi} + 2\sqrt{\chi}}{\chi^2} = \frac{\chi^2 + \sqrt{\chi}}{\chi^2}$

 $= \chi^{2} \left(1 + \frac{1}{\gamma_{5}} \right)$

 $f(x) = (x^2 + 1)^3 / x^2 + 2$

f(x) = /x+/x+ 5~

 $= \left(\left(\times + \left(\times + \sqrt{X} \right)^{\frac{1}{2}} \right)^{\frac{1}{2}}$

$$\frac{2 \times (x^{2}+2)^{\frac{1}{3}}}{3 \sqrt[3]{(x^{2}+2)^{\frac{2}{3}}}} \frac{2 \times (x^{2}+2)^{\frac{2}{3}}}{3 \sqrt[3]{(x^{2}+2)^{\frac{2}{3}}}} + 2 \times \frac{3}{3} + 2 \times \frac{3}{3}$$

$$\frac{3\sqrt[3]{(x^{2}+2)^{2}}}{3\sqrt[3]{(x^{2}+2)^{2}}} = \frac{6\times^{3}+12\times+2\times^{3}+2\times}{3\sqrt[3]{(x^{2}+2)^{2}}}$$

 $\{\chi_{X}\} = \frac{1}{2} \left(x + (x + \sqrt{x})^{\frac{1}{2}} \right)^{-\frac{1}{2}} \cdot \left(1 + \left(\frac{1}{2} (x + \sqrt{x})^{-\frac{1}{2}} \cdot \left(1 + \frac{1}{2} x^{-\frac{1}{2}} \right) \right)$

$$= \frac{3^{3} \int (x^{2}+2)^{2}}{8 \times 3 + 14 \times 14}$$

$$= \frac{8 \times 3 + 14 \times 14}{3^{3} \int (x^{2}+2)^{2}}$$

4. $f(x) = 3(x^2 - 2(x^3))$

$$\frac{x^3 + 7x}{2}$$

$$f(x) = \frac{(x^2 + 2x)^5}{(x^2 + 2x)^5}$$

$$\frac{(\chi^{2}+2\chi)^{5}\cdot 4(\chi^{-1})^{3}-(\chi^{-1})^{4}\cdot 5(\chi^{2}+2\chi)^{4}\cdot (2\chi+2)}{(\chi^{2}+2\chi)^{10}}$$

$$= \frac{4cx-1)^{5}}{(x^{2}+2x)^{5}} - \frac{(x-1)^{4} \cdot (10x+10)}{(x^{2}+2x)^{6}}$$

nth devivative of a function

$$V_{X} = C_{X} | M \cup V$$

Ex.
$$|n(u^{\frac{p}{q}}) = |n e^{\frac{p}{q}}|n \propto$$

$$= \frac{p}{q}|n \propto$$

Additional tan
$$(x+y)$$
: $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan (x+y)}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan y}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan y}$
 $\frac{tan x + tan x}{1-tan x + tan x}$
 $\frac{tan x + tan x}{1-tan x}$
 $\frac{tan x + tan x}{1-ta$

$$f'(x) = cos(x)$$

$$f'(x) = -sin(x)$$

$$f'(x)^{-1} = \frac{1}{-s}$$

$$f'(x) = -sin(x)$$

$$f'(x)^{-1} = \frac{1}{f'(x)} = -sin(x)$$

Exiz for arcfancx)

fcx)= fancx)

$$P'(x)^{-1} = \frac{1}{f'(x)} = \frac{1}{-\sin(x)}$$

$$= \frac{1}{\sqrt{1-\cos^2 x}} = \frac{1}{\sqrt{1-\cos^2 x}}$$

$$= \frac{1}{\sqrt{1-\cos^2 x}}$$

$$\frac{1}{f'(cy)} = \frac{1}{-\sin(cy)} = x$$

f(x): Sec2Cx) f(cy) = Sec2Cy)

ms Suc 2(x) = 1+ fan2(x)

$$=\frac{1}{-\sin(\gamma)}$$

Y=fan X -> x= tan y

$$= \frac{1}{\sqrt{1-x^2}}$$

$$\frac{2}{\sqrt{3}} = \frac{2}{\sqrt{3}} \cdot \frac{1}{\sqrt{3}} = \frac{1}{\sqrt{3}} \frac{1$$

$$f(x) = |n(1+x^2)$$
 $f'(x) = \frac{1}{1+x^2} \cdot 2x$

$$f'(x) = \frac{1}{1+x^2}.$$

$$\frac{2x}{x \rightarrow \infty} = \frac{2x}{1+x^2}$$

$$\frac{1}{1+x^2} = \frac{2x}{2+x^2}$$

$$\frac{1}{1+x^2} = \frac{2x}{1+x^2}$$

$$\frac{1}{1+x^2} = \frac{2x}{1+x^2}$$

$$\frac{1}{1+x^2} = \frac{2x}{1+x^2}$$

$$\frac{1}{1+x^2} = \frac{2x}{1+x^2}$$

$$= \frac{2x}{1+x^2}$$

$$\frac{2}{2X}$$

$$\frac{2}{2} = \frac{2}{2} = 0$$

$$\frac{\lambda - \infty}{1} = \frac{5}{2} = \frac{5}{2} = 0$$

$$\frac{2}{2(\infty)} = \frac{2}{\infty} =$$

Practice Exam

$$= \frac{1}{2} \left(\frac{2}{2} \frac{1}{2} \right) \left(\frac{1}{2} \frac{1}{2} \right)$$

$$= \frac{5}{\kappa \sqrt{4\kappa + 3} \kappa} = \frac{5}{(4\kappa + 3\kappa) \kappa} \sqrt{\frac{1}{\kappa}} = \frac{5}{\kappa \sqrt{4\kappa}} = \frac{5}{4} > 7$$

$$= \frac{5}{\kappa \sqrt{4\kappa + 3} \kappa} = \frac{5}{4} > 7$$

$$= \frac{5}{4} > 7$$

$$\frac{\sum_{k=1}^{\infty} \frac{3^k k^2}{k!}}{k!} = \frac{\left(\frac{k+1}{k+1}\right)^2}{\left(\frac{k+1}{k+1}\right)^2} \cdot \frac{k!}{3^k k^2}$$

=
$$\frac{3(k+1)^{k}}{(k+1)(k^2)} = \frac{3(k+1)}{k^2}$$
 as k grow factor k k gr

=
$$3 \cdot k^2 \left(\frac{1}{k} + \frac{1}{k^2}\right)$$
 than the numerous two the ratio < 1.

$$= 3\left(\frac{1}{K} + \frac{1}{K^2}\right)$$